13000 GeV pp_ _Jets

Ratio to CMS

22 o -~ r - r - r T T | -
s X (jets) (3600 < Mjj < 4200) =
- m CMS E
- o~ Pythia 6.428 390 _
18 — : -
—  -.o-- Pythia 6.428 391 -
-~ Pythia 6.428 392 —
016 E= . pythia 6.428 396 .
— % Pythia 6.428 397 —
0.14 — -~ Pythia 6.428 398 -
0.12 — E
0.1 :— | _:
0.08 — x E
L B —Eﬁzﬂaf"-"—"”—'"#zf’;#;ﬂe; _
0.06 - é\%,zjﬂ*ﬁi*%; :é) S - E
0.04 — E
0.02 — E
N L | | | | | | | | | | - |:
— I I I I | | | | | | | | I:
2 & E
" /'é\ T T -

1 e A —
B s :
05 - h

M * | * | I |

0 5 10 15
chi — eIy_l y_2|

dijet

Rivet 3.1.10, = 2.3M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


